

2.69
73

$$\frac{3 \cdot 2^n}{2!} + \frac{5 \cdot 2^{n-1}}{3!} + \dots + \frac{(2n+1) \cdot 2}{(n+1)!} + \frac{(2n+3) \cdot 2^0}{(n+2)!} = 2^{n+1} + \frac{(-1)^{2n+1}}{(n+2)!}$$

n=1 נסו

$$\frac{(2 \cdot 1 + 1) \cdot 2}{2!} + \frac{(2 \cdot 1 + 3) \cdot 1}{(1+2)!} = 2^{1+1} + \frac{(-1)^{2 \cdot 1 + 1}}{(1+2)!}$$

$$3 + \frac{5}{3!} = \frac{11-1}{3!}$$

$$\frac{18+5}{6} = \frac{24-1}{6} \checkmark$$

n+1 נסו

$$\frac{3 \cdot 2^{n+1}}{2!} + \frac{5 \cdot 2^{n+1-1}}{3!} + \dots + \frac{(2(n+1)+1) \cdot 2^1}{(n+2)!} + \frac{[2(n+1)+3] \cdot 2^0}{(n+1+2)!} = 2^{n+1+1} + \frac{(-1)^{2(n+1)+1}}{(n+1+2)!}$$

$$\frac{3 \cdot 2^{n+3}}{2! \cdot 2} + \frac{5 \cdot 2^n}{3! \cdot 2} + \dots + \frac{(2n+3) \cdot 2}{(n+2)! \cdot 2} + \frac{(2n+5) \cdot 2^0}{(n+3)! \cdot 2} = \frac{2^{n+2}}{2} + \frac{(-1)^{2n+3}}{(n+3)! \cdot 2}$$

$$\frac{3 \cdot 2^n}{2!} + \frac{5 \cdot 2^{n-1}}{3!} + \dots + \frac{(2n+3) \cdot 2}{(n+2)!} + \frac{(2n+5) \cdot 2^0}{(n+3)! \cdot 2} = 2^{n+1} + \frac{(-1)^{2n+2}}{(n+3)!}$$

נסו

$$\cancel{2^{n+1}} + \frac{(-1)^{2n+1}}{(n+2)!} + \frac{(2n+5) \cdot 2^0}{(n+3)! \cdot 2} = \cancel{2^{n+1}} + \frac{(-1)^{2n+2}}{(n+3)!}$$

$$\frac{-2(n+3) + 2n+5}{(n+3)! \cdot 2} = \frac{(-1) \cdot 1}{(n+3)!}$$

$$\frac{2}{(n+3)! \cdot 2} = \frac{1}{(n+3)!}$$

$$\frac{1}{(n+3)!} = \frac{1}{(n+3)!}$$